Supporting Information

Nickel-Catalyzed Aromatic Cross-Coupling Difluoromethylation of
Grignard Reagents with Difluoroiodomethane

Hirotaka Motohashi and Koichi Mikami*

[*] Prof. Dr. K. Mikami, H. Motohashi
Department of Chemical Science and Engineering
School of Materials and Chemical Technology
Tokyo Institute of Technology
O-okayama, Meguro-ku, Tokyo 152-8552 (Japan)
Fax: Int. code (+81)3-5734-2776
E-mail: mikami.k.ab@m.titech.ac.jp

Table of Contents

General Information page 2

General Procedure for Syntheses of difluroiodomethane and Grignard Reagents___page 2
General Procedure for Ni-Catalyzed Aromatic Difluoromethylation_ page 3-9
Observation of Oxidative Addition Intermediate (A)____ page 9-10
Observation of Reductive Elimination_____ page 11
Observation of Ligand Exchange page 12-13
Radical Clock Experiment page 13-14
R I NI COS page 15
NV I R P T A page 16-52

SI-1



General Information:

'H, C, "F and *'P NMR spectra were measured on Bruker AV300M (300 MHz) spectrometers.
TLC plates were purchased from Merck (Silica-gel 60F,s4). Visualization was accomplished by UV
light (254 nm), anisaldehyde, potassium permanganate. Silica-gel column chromatography was
performed on Kanto Chemical Silica-gel 60N (spherical, neutral). All reactions except for
preparation of substrates were conducted in screw-capped test tubes equipped with a magnetic
stirring bar under argon atmosphere. Dehydrated solvents were purchased from Kanto Chemical and

distilled with GlassContour Solvent Purification System prior to use.

Synthetic Procedure of Difluoroiodomethane (1) from Chlorodifluoroacetic Acid!

Kl (2 eq.)
Cul (1 eq.)
CICF,CO,H > ICF,H
DMF, 90 to 150 °C, 12 h 5

KI (99.6 g, 0.6 mol), Cul (57.1 g, 0.3 mol), and DMF (250 mL, containing water 1.5 mL) were
placed in a 1 L three-necked round-bottomed flask equipped reflux condenser with a trap (trap was
cooled to -78 °C) under argon atmosphere. To a solution of them was added chlorodifluoroacetic
acid (25 mL, 0.3 mol) in DMF (25 mL) dropwise during 0.5 h at 90 °C. After the reaction
temperature was warmed up in 10 °C every two hours up to 150 °C, difluoroiodomethane was
collected in a trap (8.0 g, 15% yield). Because of the low boiling point (21-23 °C, condition: 20 °C,
1 atm) of difluoroiodomethane, THF solution of difluoroiodomethane was used. The concentration
of THF solution (1.2-1.8 M) was determined by 'F NMR analysis using BTF as an internal

standard.

'H NMR (300 MHz, CDCl3) & 7.47 (t, Ji.r = 55.8 Hz); >C NMR (75 MHz, CDCl3) & 84.1 (t, Jor =
305.0 Hz); "’F NMR (282 MHz, CDCl;) & -68.0 (d, J.i = 56.2 Hz).

Preparation of Grignard Reagents

Phenylmagnesiumbromide 1a was purchased from Sigma Aldrich. Grignard reagents which were
used to synthesize 1a-n, 1r, 1t-u, and 1u were prepared by the reaction of the corresponding Ar-Br
and Mg turnings in THF (ca. 0.5 M). In contrast, Grignard reagents which were used to synthesize
lo-q, 1s and 1v were prepared by the reaction of the corresponding Ar-I and ‘PrMgBr in THF

according to previous report?’.

SI-2



General Procedure for Ni-Catalyzed Difluoromethylation (Scheme S1)
Ni(cod), 2.5 mol%
MgBr TMEDA 2.5 mol% CF;H
R@’ + I—CF,H > RO
THF,0°Ctort.,1h
1 2 3
1.5 equiv.

In an argon-filled glovebox, Ni(cod), (2.8 mg, 0.001 mmol, 2.5 mol%) was added to 10 mL test
tube. After the tube was sealed with a septum, THF (2 mL) and TMEDA (1.5 pL, 0.001 mmol, 2.5
mol%) were added to a solution and this was added difluoroiodomethane in THF (1.2-1.8 M,
220-330 uL, 0.40 mmol) at room temperature. After stirred for 5 min at the same temperature, the
solution was cooled to 0 [7 then, Grignard reagent (ca. 0.5 M in THF, 1.2 mL, 0.6 mmol) was added.
After stirred for 1 h at room temperature, the reaction mixture was quenched by saturated NH,4Cl
aqueous solution, and Et,O (5.0 mL) was added. The organic layer was separated, and the aqueous
layer was extracted with Et;O (5.0 mL X 3). The combined organic layer was evaporated. NMR
yield was determined by using benzotrifluoride (BTF) as an internal standard. The resulting crude

product was purified by silica-gel column chromatography to give difluoromethylated products 3.

(Difluoromethyl)benzene (3a)

OF,H Colorless liquid. NMR vyield (99%) was determined by using BTF as an internal
©/ standard. The residue was purified by silica-gel column chromatography (pentane
only) to afford the compound (21.0 mg, 41% yield). The product is known
compound and the following data are identical to those given in corresponding literature.”’ "H NMR
(300 MHz, CDCls) & 7.58-7.49 (m, 5H), 6.70 (t, 1H, Ji.r = 56.5 Hz); >*C NMR (75 MHz, CDCl;) &
134.4 (t, Jor = 29.6 Hz), 130.7 (t, Jo.r = 1.9 Hz), 125.6 (t, Jor = 6.0 Hz), 114.8 (t, Jc.r = 237.1 Hz);

F NMR (282 MHz, CDCl3) & -110.5 (d, 2F, Je. = 58.9 Hz).

4-(Difluoromethyl)-1,1'-biphenyl (3b)
CF,H White solid. NMR yield (99%) was determined by using BTF as an internal
/©/ standard. The residue was purified by silica-gel column chromatography (hexane
Ph only) to afford the compound (72.7 mg, 89% yield). The product is known
compound and the following data are identical to those given in corresponding literature.””! '"H NMR
(300 MHz, CDCls) é 7.70-7.67 (m, 2H), 7.62-7.58 (m, 4H), 7.50-7.45 (m, 2H), 7.42-7.39 (m, 1H),
6.70 (t, Ju.r = 56.5 Hz); °C NMR (75 MHz, CDCl3) § 143.9, 140.3, 133.4 (t, Jor = 22.8 Hz), 129.1,
128.1, 127.6, 127.4, 126.2 (t, Je.r = 5.9 Hz), 114.9 (t, Jer = 237.3 Hz); "’F NMR (282 MHz, CDCl5)
0 -110.4 (d, 2F, Jr.g = 55.2 Hz).

SI-3



3-(Difluoromethyl)-1,1'-biphenyl (3¢)
cF,H Colorless liquid. NMR yield (94%) was determined by using BTF as an internal
standard. The residue was purified by silica-gel column chromatography (2% EtOAc
?/ in hexane) to afford the compound (63.7 mg, 78% yield). The product is known
compound and the following data are identical to those given in corresponding
literature.”) "H NMR (300 MHz, CDCls) & 7.75-7.71 (m, 2H), 7.64-7.57 (m, 2H), 7.55-7.46 (m, 4H),
7.43-7.38 (m, 1H), 6.73 (t, Ju.r = 56.5 Hz); >C NMR (75 MHz, CDCl3) § 142.0, 140.3, 135.1 (t, Jcr
=22.2 Hz), 129.6 (t, Jcr = 1.8 Hz), 129.3, 129.0, 127.9, 127.3, 124.5 (t, Jc.r = 6.0 Hz), 124.4 (t,
Jer = 6.0 Hz), 114.9 (t, Jor = 237.4 Hz); "’F NMR (282 MHz, CDCl;) & -110.6 (d, 2F, Jpu = 56.3
Hz).

1- (Difluoromethyl)naphthalene (3d)
CF,H Colorless liquid. NMR yield (61%) was determined by using BTF as an internal
standard. The residue was purified by silica-gel column chromatography (1% EtOAc
OO in hexane) to afford the compound (39.2 mg, 55% yield). The product is known
compound and the following data are identical to those given in corresponding
literature.") "H NMR (300 MHz, CDCl;) & 8.19 (d, 1H, J = 8.0 Hz), 7.99-7.92 (m, 2H), 7.71 (d, 1H,
J =7.1Hz), 7.65-7.49 (m, 3H), 7.15 (t, Ju.r = 55.2 Hz); C NMR (75 MHz, CDCl5) & 133.9, 131.6
(t, Joor = 1.5 Hz), 129.9 (t, Jor = 2.3 Hz), 129.7 (t, Jor = 21.0 Hz), 128.9, 127.3, 126.5, 124.9 (t, Jcr
=9.0 Hz), 124.8, 123.7, 115.6 (t, Jer = 239.3 Hz); '°F NMR (282 MHz, CDCl;) & -110.8 (d, 2F, Je.u
=55.2 Hz).

2- (Difluoromethyl)naphthalene (3e)
White solid. NMR vyield (89%) was determined by using BTF as an internal

CF,H
standard. The residue was purified by silica-gel column chromatography (1%

EtOAc in hexane) to afford the compound (54.9 mg, 77% yield). The product is
known compound and the following data are identical to those given in corresponding literature."
'H NMR (300 MHz, CDCl3) & 7.98-7.87 (m, 4H), 7.62-7.54 (m, 3H), 6.80 (t, Ju.r = 56.4 Hz); °C
NMR (75 MHz, CDCls) 6 134.5, 132.7, 131.5 (t, Jor = 22.1 Hz), 129.0, 128.7, 128.0, 127.5, 126.9,
126.0 (t, Jer = 7.5 Hz), 122.2 (t, Jer = 4.6 Hz), 115.2 (t, Jer = 233.0 Hz); '°’F NMR (282 MHz,

CDCl3) 6 -109.9 (d, 2F, Jp.y = 57.8 Hz).

9-(Difluoromethyl)phenanthrene (3f)
CF,H White solid. NMR vyield (84%) was determined by using BTF as an internal
O standard. The residue was purified by silica-gel column chromatography (hexane
O Q only) to afford the compound (71.2 mg, 78% yield). The product is known

compound and the following data are identical to those given in corresponding

SI-4



literature.’). "H NMR (300 MHz, CDCl;) & 8.77 (dd, 2H, J = 8.8 Hz, J = 1.6 Hz), 8.26-8.23 (m, 1H),
8.00 (s, 1H), 7.97 (d, 1H, J = 7.9 Hz), 7.79-7.64 (m, 4H), 7.18 (t, 1H, J = 55.0 Hz); >C NMR (75
MHz, CDCl3) & 131,6, 131.0, 130.3, 129.7, 128.4, 128.0 (t, Jor = 12.0 Hz), 127,9, 127.4, 127.3,
127,2, 127.0 (t, Jer = 9.0 Hz), 124.6 (t, Jor = 1.5 Hz), 123.4, 122.8, 115.8 (t, Jor = 237.3 Hz); "°F
NMR (282 MHz, CDCl3) & -111.8 (d, 2F, Jr.y = 52.2 Hz).

2-(Difluoromethyl)-9,9-dimethyl-9H-fluorene (3g)

Me Me White solid. NMR yield (99%) was determined by using BTF as an internal
. CF,H standard. The residue was purified by silica-gel column chromatography
Q O (hexane only) to afford the compound (85.0 mg, 87% yield). The product is
known compound and the following data are identical to those given in
corresponding literature.'” "H NMR (300 MHz, CDCl3) & 7.82-7.77 (m, 2H), 7.61 (s, 1H), 7.52-7.46
(m, 2H), 7.42-7.37 (m, 2H), 6.75 (t, Jir = 56.6 Hz), 1.54 (s, 6H); °C NMR (75 MHz, CDCL;) &
154.2, 154.1, 141.9 (t, Jcr = 1.9 Hz), 138.3, 133.2 (t, Jc.r= 21.8 Hz), 128.2, 127.3, 124.9 (t, Jcr =
6.2 Hz), 122.9, 120.6, 120.2, 120.0 (t, Jor = 5.9 Hz), 115.3 (t, Jor = 236.9 Hz), 47.2, 27.1; "’F NMR

(282 MHz, CDCls) 6 -109.0 (d, 2F, Jr.s = 58.6 Hz).

1-(Difluoromethyl)-4-methoxybenzene (3h)
CF,H Colorless liquid. NMR yield (75%) was determined by using BTF as an internal
/©/ standard. The residue was purified by silica-gel column chromatography (2%
MeO Et;O in pentane) to afford the compound (19.6 mg, 31% yield). The product is
known compound and the following data are identical to those given in corresponding literature.!"
'H NMR (300 MHz, CDCl3) & 7.45 (d, 2H, J = 8.6 Hz), 6.97 (d, 2H, 8.7 Hz), 6.62 (t, 1H, Ji.p = 56.7
Hz), 3.85 (s, 3H); *C NMR (75 MHz, CDCls) & 161.5, 127.2 (t, Jer= 5.9 Hz), 126.9 (t, Jo.r = 22.3
Hz), 115.0 (t, Jor = 236.0 Hz), 114.1, 55.5; "’F NMR (282 MHz, CDCl3) & -108.2 (d, 2F, Jg.s = 58.5
Hz).

1-(Difluoromethyl)-4-phenoxybenzene (3i)
cF,H Colorless liquid. NMR yield (92%) was determined by using BTF as an internal
/©/ standard. The residue was purified by silica-gel column chromatography (5%
PhO EtOAc in haxane) to afford the compound (62.5 mg, 71% yield). The product is
known compound and the following data are identical to those given in corresponding literature.
'H NMR (300 MHz, CDCl3) & 7.47 (d, 2H, J = 8.2 Hz), 7.41-7.36 (m, 2H), 7.17 (t, 1H, 8.4 Hz),
7.06-7.04 (m, 4H), 6.63 (t, 1H, Jur = 56.6 Hz); >C NMR (75 MHz, CDCls) & 159.7 (t, Jor = 1.8
Hz), 156.3, 130.1, 129.0 (t, Jcr = 22.5 Hz), 127.5 (t, Jcr= 5.9 Hz), 124.3, 119.8, 118.4, 114.7 (t,

Jer=236.5Hz ); '’F NMR (282 MHz, CDCls) & -109.0 (d, 2F Jry = 58.4 Hz).

SI-5



[4-(Difluoromethyl)phenyl](methyl)sulfane (3j)
CF,H Yellow liquid. NMR yield (97%) was determined by using BTF as an internal
/©/ standard. The residue was purified by silica-gel column chromatography
MeS (hexane only) to afford the compound (60.6 mg, 82% yield). The product is
known compound and the following data are identical to those given in corresponding literature.”’
'H NMR (300 MHz, CDCl3) 8 7.41 (d, 2H, J = 6.2 Hz), 7.30 (d, 2H, 8.0 Hz), 6.60 (t, 1H, Ji.r = 56.6
Hz), 2.50 (s, 3H); *C NMR (75 MHz, CDCls) & 142.2 (t, Je.r = 2.2 Hz), 130.9 (t, Jor= 22.5 Hz),
126.0 (t, Jer = 6.2 Hz), 125.9, 114.6 (t, Jor = 236.7 Hz), 15.3; ’F NMR (282 MHz, CDCl;) &
-110.0 (d, 2F, Jr.p = 56.2 Hz).

1-(tert-Butyl)-4-(difluoromethyl)benzene (3k)
CF,H Colorless liquid. NMR yield (99%) was determined by using BTF as an internal
/©/ standard. The residue was purified by silica-gel column chromatography (pentane
Bu only) to afford the compound (52.3 mg, 71% yield). The product is known
compound and the following data are identical to those given in corresponding literature.! '"H NMR
(300 MHz, CDCl3) & 7.51 (d, 2H, J = 8.8 Hz), 7.47 (d, 2H, 9.0 Hz), 6.65 (t, 1H, Ju.r = 56.6 Hz),
1.36 (s, 9H); °C NMR (75 MHz, CDCl3) & 154.1, 131.7 (t, Jog= 22.3 Hz), 125.4 (t, Jo.r = 6.0 Hz),
115.0 (t, Jep = 236.5 Hz), 35.0, 31.3; "’F NMR (282 MHz, CDCl3)  -109.9 (d, 2F, Je.i = 58.9 Hz).

1-(Difluoromethyl)-4-(trifluoromethyl)benzene (31)
cF,H Colorless liquid. NMR yield (91%) was determined by using
/©/ trifluoromethoxybenzene as an internal standard. The residue was purified by
FaC silica-gel column chromatography (pentane only) to afford the compound (17.3
mg, 22% yield). The product is known compound and the following data are identical to those given
in corresponding literature.®) "H NMR (300 MHz, CDCls) & 7.74 (d, 2H, J = 8.2 Hz), 7.65 (d, 2H,
8.0 Hz), 6.71 (t, 1H, Jyr = 56.0 Hz); °C NMR (75 MHz, CDCl3) § 137.8 (t, Jo.r= 22.4 Hz), 132.8
(q, Jer = 32.6 Hz), 126.1 (t, Jor = 6.0 Hz), 125.8 (q, Jcr = 3.8 Hz), 123.6 (q, Jcr = 270.8 Hz),
113,7 (t, Jor = 238.5 Hz); ’F NMR (282 MHz, CDCl3) & -63.1 (s, 3F), -112.4 (d, 2F, Jpy = 55.4
Hz).

1-Chloro-4-(difluoromethyl)benzene (3m)
cF,H Colorless liquid. NMR yield (95%) was determined by using BTF as an internal
/©/ standard. The residue was purified by silica-gel column chromatography (2%
cl Et;O in pentane) to afford the compound (31.2 mg, 48% yield). The product is
known compound and the following data are identical to those given in corresponding literature.!"
'H NMR (300 MHz, CDCl3) & 7.46 (br, 4H), 6.65 (t, 1H, Jir = 56.3 Hz); °C NMR (75 MHz,
CDCls) 6 137.0, 132.9 (t, Jcr= 22.8 Hz), 129.1, 127.1 (t, Jcr = 6.0 Hz), 114.2 (t, Jcr = 237.5 Hz);

F NMR (282 MHz, CDCl3) & -110.8 (d, 2F, Jr.y = 55.0 Hz).

SI-6



1-Bromo-4-(difluoromethyl)benzene (3n)
CF,H Colorless liquid. NMR yield (65%) was determined by using BTF as an internal
/©/ standard. The residue was purified by silica-gel column chromatography (2%
Br Et;0 in pentane) to afford the compound (42.2 mg, 51% yield). The product is
known compound and the following data are identical to those given in corresponding literature.®
'H NMR (300 MHz, CDCl3) 8 7.62 (d, 2H, J = 8.4 Hz), 7.40 (d, 2H, J = 8.0 Hz), 6.63 (t, 1H, Jypr =
56.3 Hz); °C NMR (75 MHz, CDCl3) & 133.4 (t, Jep= 22.7 Hz), 132.1, 128.6, 127.4 (t, Jer = 6.0

Hz), 114.2 (t, Jor = 237.7 Hz); "°F NMR (282 MHz, CDCl3) 8 -111.0 (d, 2F, Jiyy = 56.0 Hz).

4-(Difluoromethyl)benzonitrile (30)
CF,H Orange liquid. NMR vyield (72%) was determined by using BTF as an internal
/©/ standard. The residue was purified by silica-gel column chromatography (3%
NC EtOAc in hexane) to afford the compound (37.4 mg, 61% yield). The product is
known compound and the following data are identical to those given in corresponding literature.!
'H NMR (300 MHz, CDCl3) & 7.79 (d, 2H, J = 8.1 Hz), 7.66 (d, 2H, J = 8.6 Hz), 6.71 (t, 1H, Jur =
55.8 Hz); °C NMR (75 MHz, CDCl;) & 138.6 (t, Jep= 22.8 Hz), 132.6, 126.4 (t, Joy = 6.0 Hz),
117.9, 114.8, 113.3 (t, Jer = 239.4 Hz); "’F NMR (282 MHz, CDCl;) & -113.1 (d, 2F, Jeu = 55.6

Hz).

Ethyl 4-(difluoromethyl)benzoate (3p)
cF,H Colorless liquid. NMR yield (82%) was determined by using BTF as an
O/ internal standard. The residue was purified by silica-gel column
Et0,C chromatography (3% EtOAc in hexane) to afford the compound (56.9 mg,
71% yield). The product is known compound and the following data are identical to those given in
corresponding literature.’ "H NMR (300 MHz, CDCl3) & 8.15 (d, 2H, J = 8.3 Hz), 7.60 (d, 2H, J =
8.4 Hz), 6.71 (t, 1H, Jyr = 56.1 Hz), 4.42 (q, 2H, J = 7.1 Hz), 1.43 (t, 3H, J= 7.1 Hz); °C NMR (75
MHz, CDCls) 6 165.9, 138.5 (t, Jcr=22.1 Hz), 132.8, 130.1, 125.7 (t, Jcr = 6.0 Hz), 114.2 (t, Jcr =
238.1 Hz), 61.5, 14.4; "°F NMR (282 MHz, CDCl3) & -112.2 (d, 2F, Jg.i = 55.1 Hz).

1-(Difluoromethyl)-4-nitrobenzene (3q)
CF,H Orange liquid. NMR yield (69 %) was determined by using BTF as an internal
standard. The residue was purified by silica-gel column chromatography (3%

EtOAc in hexane) to afford the compound (42.2 mg, 64% yield). The product is
]

O,N

known compound and the following data are identical to those given in corresponding literature.™
'H NMR (300 MHz, CDCl;) & 8.33 (d, 2H, J = 8.6 Hz), 7.73 (d, 2H, J = 8.7 Hz), 6.76 (t, 1H, Ju.r =
55.7 Hz); C NMR (75 MHz, CDCl;) & 149.5, 140.3 (t, Jer= 22.8 Hz), 127.0 (t, Jor = 6.0 Hz),
113.3 (t, Jer = 239.3 Hz); "’F NMR (282 MHz, CDCl3) & -113.0 (d, 2F, Jg.z = 57.8 Hz).

1-(Difluoromethyl)-3-methoxybenzene (3r)

SI-7



cF,H Colorless liquid. NMR yield (78%) was determined by using BTF as an internal
©/ standard. The residue was purified by silica-gel column chromatography (2% Et,0 in

OMe pentane) to afford the compound (28.5 mg, 45% yield). The product is known
compound and the following data are identical to those given in corresponding

literature. "H NMR (300 MHz, CDCl3) & 7.39 (t, 1H, J = 8.0 Hz), 7.12-7.02 (m, 3H), 6.64 (t, 1H,
Jur = 56.5 Hz), 3.86 (s, 3H); °C NMR (75 MHz, CDCl3) § 159.9, 135.9 (t, Je.r = 22.1 Hz), 130.0,
118.0 (t, Jcr= 6.4 Hz), 116.7 (t, Jcr = 1.9 Hz), 114.7 (t, Jcr = 237.5 Hz), 110.8 (t, Jcr = 6.0 Hz),

55.5; "°F NMR (282 MHz, CDCl3) & -110.7 (d, 2F, Jr.yy = 55.2 Hz).

Ethyl 3-(difluoromethyl)benzoate (3s)

CF,H Colorless liquid. NMR yield (84%) was determined by using BTF as an internal
standard. The residue was purified by silica-gel column chromatography (3% EtOAc
COEL in hexane) to afford the compound (63.3 mg, 79% yield). The product is known

compound and the following data are identical to those given in corresponding
literature.”) "H NMR (300 MHz, CDCl3) & 8.20-8.17 (m, 2H), 7.73 (d, 1H, J = 7.7 Hz), 7.56 (t, 1H,
J=17.7Hz), 6.71 (t, 1H, Jur = 56.2 Hz), 4.42 (q, 2H, J = 7.1 Hz), 1.43 (t, 3H, J = 7.1 Hz); °C NMR
(75 MHz, CDCls) 6 165.8, 134.8 (t, Jcr= 22.6 Hz), 131.9, 131.2, 129.7 (t, Jcr = 5.6 Hz), 129.0,
127.0 (t, Jo.r = 6.4 Hz), 114.3 (t, Jop = 238.0 Hz), 61.5, 14.4; ’F NMR (282 MHz, CDCl3) & -111.1
(d, 2F, Jpn = 55.2 Hz).

5-(Difluoromethyl)benzo[d][1,3]dioxole (3t)
o CF,H Colorless liquid. NMR yield (88%) was determined by using BTF as an internal
¢ U standard. The residue was purified by silica-gel column chromatography (2%
© Et;O in hexane) to afford the compound (55.8 mg, 81% yield). The product is
known compound and the following data are identical to those given in corresponding literature. !
'H NMR (300 MHz, CDCl3) 8 6.99 (d, 1H, J = 7.1 Hz), 6.86 (d, 1H, J = 7.5 Hz), 6.56 (t, 1H, Jyp =
56.6 Hz), 6.04 (s, 2H); *C NMR (75 MHz, CDCls) & 149.7, 148.2, 128.4 (t, Jor = 22.5 Hz), 120.3 (t,
Jer=7.1Hz), 114.8 (t, Jor = 236.6 Hz), 108.4, 105.9 (t, Jor = 5.5 Hz), 101.7; "°F NMR (282 MHz,

CDCls) & -107.9 (d, 2F, Jryy = 55.4 Hz).

1-(Difluoromethyl)-2-methylbenzene (3u)

CF,H Colorless liquid. NMR yield (71%) was determined by using BTF as an internal
@ standard. The residue was purified by silica-gel column chromatography (pentane
Me only) to afford the compound (30.0 mg, 52% yield). The product is known compound
and the following data are identical to those given in corresponding literature.”) "H NMR (300 MHz,
CDCls) 6 7.42 (d, 1H, J = 7.4 Hz), 7.30-7.25 (m, 1H), 7.20-7.13 (m, 2H), 6.67(t, 1H, Jur =55.4
Hz), 2.35 (s, 3H); *C NMR (75 MHz, CDCls) & 136.4 (t, Jo.r = 6.0 Hz), 132.3 (t, Jor = 20.6 Hz),
131.2, 130.7 (t, Jox = 1.9 Hz), 126.1, 125.9 (t, Jor = 7.5 Hz), 114.6 (t, Jor = 236.4 Hz), 18.6; "°F

SI-8



NMR (282 MHz, CDCl3) 6 -113.1 (d, 2F, Jr.z = 55.4 Hz).

2-(Difluoromethyl)benzonitrile (3v)

CF,H Orange liquid. NMR vyield (42%) was determined by using BTF as an internal
@[ standard. The residue was purified by silica-gel column chromatography (5% EtOAc
CN ip hexane) to afford the compound (20.2 mg, 33% yield). The product is known
compound and the following data are identical to those given in corresponding literature.™ 'H NMR
(300 MHz, CDCLs) & 7.77-7.73 (m, 3H), 7.62 (t, 1H, J = 7.0 Hz), 6.92 (t, 1H, Jur = 55.6 Hz); °C
NMR (75 MHz, CDCls) 6 136.8 (t, Jor = 23.1 Hz), 133.4, 131.4, 126.5 (t, Jcr = 5.9 Hz), 115.9,
112.3 (t, Jor = 238.7 Hz), 110.7 (t, Jer= 5.2 Hz); "’F NMR (282 MHz, CDCls) & -112.1 (d, 2F,
Jrn = 54.8 Hz).

9-[4-(Difluoromethyl)phenyl]-9H-carbazole (3w)
crk.H White solid. NMR yield (99%) was determined by using BTF as an internal
2

O O/ standard. The residue was purified by silica-gel column chromatography
N (5% EtOAc in hexane) to afford the compound (82.2 mg, 70% yield). The
O product is known compound and the following data are identical to those

given in corresponding literature."”’ "H NMR (300 MHz, CDCl3) & 8.16 (d,
2H,J="1.7 Hz), 7.78 (d, 2H, J = 8.9 Hz), 7.69 (d, 2H, J = 8.1 Hz), 7.44-7.31 (m, 6H), 6.79 (t, Ju.r =
56.3 Hz); °C NMR (75 MHz, CDCl3) § 140.6, 140.1, 133.3 (t, Jor = 22.6 Hz), 127.4 (t, Jer = 6.0
Hz), 127.3, 126.2, 123.7, 120.5, 120.4, 114.4 (t, Jor = 237.6 Hz), 109.7; ’F NMR (282 MHz,
CDCls) 6 -110.4 (d, 2F, Jp.p = 55.5 Hz).

SI-9



Observation of Oxidative Addition Intermediate (TMEDA)Ni(CF,H)I (A)

In an argon-filled glovebox, Ni(cod), (6.9 mg, 0.025 mmol) was added to 20 mL Schlenk tube.
After the tube was sealed with a septum, THF (1 mL) and TMEDA (4.0 uL, 0.025 mmol) were
added to a solution and this was added difluoroiodomethane in THF (1.2-1.8 M, 15-20 uL, 0.025
mmol) at room temperature. After stirred for 5 min at the same temperature, the reaction mixture
was monitored by '°F NMR analysis using BTF as an internal standard. (Figure SI-1) The yield was
based on Ni(cod),. EPR spectroscopy was found to be EPR-silent. (Figure SI-2)

F NMR (282 MHz, C¢Dg) & -107.8 (d, Jr.y = 51.1 Hz).

__-107.6694
T--107.8507

- —-107.669
- —=-107.851

|

—

T T T T
20 0 -20 -40 -60 -80 -100 -120 -140 ppm

Figure SI-1 "°F NMR spectrum of oxidative addition intermediate A

Mn 2nd Mn 3rd Mn 4th Mn 5t Mn 6th

Accumulation : 32

Power : 5 mW

Mod Width : 0.5 mT

Amplitude : 300 M\\

Temperature : =150 °C
Magnetic field : 310 — 360

310 320 330 340 350 360
Magnetic field / mT
SI-10



Figure SI-2 EPR spectrum of a solution of A

Observation of Reductive Elimination

The THF solution of (TMEDA)Ni(CF,H)I (A) (0.050 mmol in THF 1 mL) was cooled to — 40 [.
To the solution of this was added phenylmagnasiumbromide 1a (1.0 M, 75 pL, 0.075 mmol) and
stirred for 5 min at same temperature. The reaction mixture was warmed up to ambient temperature
and monitored by '’F NMR analysis using BTF as an internal standard. The quantitative formation
of 3a was observed (Figure SI-3). EPR spectroscopy was found to be EPR-silent (Figure SI-4).

__-110.9994
T--111.1954

20 0 -20 -40 -60 -80 -100 -120 -140 ppm

3.0000
1.2354 =

Figure SI-2 '°F NMR spectrum after reductive elimination

Mn 2 Mn 3d Mn 4th Mn 5t Mn gt

Accumulation : 32 L,,.
Power : 1 mW

Mod Width : 0.5 mT "'} "

Amplitude : 250

Temperature : =150 °C

Magnetic field : 310 — 360

320 330 340 350
Magnetic field / mT
SI-11



Figure SI-4 EPR spectrum after reductive elimination
Observation of Ligand Exchange of (DPPF)Ni(CF,H)I (A’) to (TMEDA)Ni(CF,H)I (A)!""

In an argon-filled glovebox, Ni(cod), (6.9 mg, 0.025 mmol) and DPPF (13.3 mg, 0.025 mmol)
were added to 20 mL Schlenk tube. After the tube was sealed with a septum, THF (1 mL) was added
to a solution and this was added difluoroiodomethane in THF (1.2-1.8 M, 15-20 pL, 0.025 mmol) at
room temperature. After stirred for 1 h at the same temperature, the reaction mixture was monitored
by '’F NMR analysis using BTF as an internal standard (Figure SI-5). After removing
difluoroiodometthane by evacuation, 1 mL of THF and TMEDA (4.0 pL, 0.025 mmol) were added
and the mixture was stirred at room temperature for 5 min. The reaction mixture was monitored by
F NMR analysis using BTF as an internal standard (Figure SI-6). The yield was based on
Ni(cod),.

F NMR (282 MHz, C¢D) & -79.7 (ap q, Jr-u = Jrp = 48.9 Hz).

-79.5299
-79.6736
-79.8470
-79.9911

A
X

-79.530
-79.674
-79.847
-79.991

A
N

T T T T
20 0 -20 -40 -60 -80 -100 -120 -140 ppm

3.0000 >=
0.5350 =

Figure SI-5 '°F NMR spectrum of oxidative addition intermediate A’

SI-12



__—-107.8666
--108.0547

- —=-107.867
—-108.055

T T T
20 0 -20 -40 -60 -80 -100 -120 -140 ppm

: :

Figure SI-6 '°F NMR spectrum after ligand exchange
Radical Clock Experimentm]

In an argon-filled glovebox, Ni(cod), (1.4 mg, 0.0005 mmol, 2.5 mol%) was weighed and added to
10 mL test tube. After the tube was sealed with a septum, THF (1 mL) and TMEDA (0.8 uL, 0.0005
mmol, 2.5 mol%) were added to a solution and this was added difluoroiodomethane in THF (1.2-1.8
M, 110-160 pL, 0.20 mmol) and diallyl ether (25 pL, 0.2 mmol) at room temperature. After stirred
for 5 min at the same temperature, the solution was cooled to 0 [1 and phenylmagnesiumbromide
(1.0 M in THF, 0.3 mL, 0.3 mmol) was added. After stirred for 1 h at room temperature, the reaction
mixture was monitored by '’F NMR analysis using BTF as an internal standard. The ring-closing

product 5 (-115.9 ppm) was formed in 2% yield (Figure SI-7).

SI-13



__—-110.8454

T--111.0411
—-115.9177

-115.918

pPrm

0.146

T T
40 -60 -80 -100 -120 140 ppm

4.8814 =
0.1461 >—

Figure SI-7 Radical clock experiment

SI-14



References

[1]
[2]

~

— /o
AN W
[ T e S T S

o]

[9]

[10]
[12]

[11]

Cao, P.; Duan, J.-X.; Chen, Q.-Y. J. Chem. Soc., Chem. Commun. 1994, 737.
Bonnet, V.; Mongin, F.; Trecourt, F.; Queguiner, G.; Knochel, P. Tetrahedron Lett. 2001, 47,
5717.
Lan, M.; Adam, R.; Hui, Z.; Stefan, G.; Douglas, S. Chem. Eur. J. 2017, 23, 17692.
Aikawa, K.; Serizawa, H.; Ishii, K.; Mikami, K. Org. Lett. 2016, 18, 3690.
Feng, Z.; Min, Q.-Q.; Zhang, X. Org. Lett. 2016, 18, 44.
Deng, X.-Y; Lin, J.-H.; Xiao, J.-C. Org. Lett. 2016, 18, 4384.
Ge, S.; Chaladaj, W.; Hartwig, J. F. J. Am. Chem. Soc. 2014, 136, 4149.
Prakash, G. K.; Ganesh, S. K.; Jones, J.-P.; Kulkarni, A.; Masood, K.; Swabeck, J. K.; Olah, G.
A. Angew. Chem. Int. Ed., 2012, 124, 12256.
Matesis, C.; Jouvin, K.; Goossen, L. J. Org. Lett. 2014, 16, 5984.

Qilong, S.; Yang, G. patent CN105085129, 2017, B, 228.

(a) ref. 4.

(b) Maleckis, A.; Sanford, M. S. Organometallics 2014, 33, 3831.

Fu, X.[1P,; Xiao, Y.-L.; Zhang, X. Chin. J. Chem. 2018, 36, 143.

SI-15



—17.6575
—7.4716

——7.2857

|_CF2H

'H NMR

A I

12 11 10 9 8 7 6 5 4 3 2 1 0 ppm

——88.2060
——84.1386

—80.0717

|—CF,H

BCNMR

T T T T T T T T T T T T T T T T T T T T T
190 180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10 0 ppm

SI-16



|—CF,H

19 NMR

__-67.9408
--68.1402

20

o -

-20

-40

-60

SI-17

-80

\
-100

\
-120

-140

ppm



18059
£€969'9
§¥88'9
1067°L
9861'L
Sv0SG'L
10S°L
v0LG'L
981G,
6225°L
99¢25°L
96€G’.L
€LEG°L
SOvS'L
€66G°L
Zy9s'L
911G°L
118G°L
6¥89°L

CF,H

3a
'HNMR

ppm

10

12

|

0000°L

|

110G

L289°L L1
128 vilL
€€00'8L1
¥S.¥'sel
8665°G¢l
€9€9'6C1
¥€0.'8¢1
6812°0¢€L
cevLoel
189/°0¢€1
€eelvel
cLIvvEL
8LLLVEL

S\

CF,H

3a
13 ¢ NMR

170

ppm

150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

160

180

190

SI-18



1619°0Lb-~__
OLLYOLL-—

CF,H

3a
19 F NMR

T
ppm

\
-140

\
-120

N

\
-100

\
-80

\
-60

\
-40

=g

20

CF,H

3b
I'H NMR

Ph

ppm

10

12

0000°L

85¥6'0
8506}
0v6.L'€

Nzese

SI-19



9/l
9688'vL 1
8€50°'8L 1
06.0'9¢1
v0LL'9¢h
s8veocl
198¢L¢h

8850'6C1
9660°€El
608€'€El
6¥89°¢Cl
16¥€0v1
£98'eYl

\

\

7
/

CF,H

Ph

3b
13C NMR

IR A AN A RSP

Ghid bl )

o (kb

AL )

i Ak M

TR

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

190

CF,H

Ph

3b
19 F NMR

SI-20



920G°0bb-~__
6LLEOLL-—

T
ppm

\
-140

\
-120

\
-100

\
-80

\
-60

\
-40

\
-20

=g

20

SI-21



v.€G°9
96¢L'9
1€16'9
69.€°L
808€°L
LILOV'L
LGev'L
c6ey'L
06GY'L
0291'L
1E8Y¥'L
9005°L
v.0G°L
[4or4< A
9LvS'L
1€LG°L
6809'L
GG29'L
[44°5 WA
G9€9'L
LL0L°L
90LLL
ceeL’L
02s.'L

>t

CF,H

Ph

3c
"H NMR

ppm

0000" L

/ ¥096°0
—89G6'€
—~£€20¢

F o \80L0T

10

Z8ZLLLL
096811
9190'8)1
8GYE vzl
598¢vZ)
Yoz vzl
099v'vZ1
2L0GvTh
1SYSveL
160€"L2)
1926120
627062}
10862}
96562}
1¥95'62)
185621
099, V€L
8650°GE)
165€°GEL
£12€0Y)
52002V}

CF,H

Ph
3c
3¢ NMR

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

190

SI1-22



806901 b-~__
rL6YOLL-—

CF,H

T
ppm

Ph

3c
Pr NMR

\
-140

\
-120

\
-100

\
-80

\
-60

\
-40

\
-20

- o

6896'9
8¢S1°L
89€€’L
9/8¥'L
LELS'L
€0vSe'L
0995°L
069G,
268S°L
G666,
0919°L
6029°L
18€9°L
6EV9’L
1869°L
€ecel’L
v2L6'L
LL16°L
6¢v6'L
1656'L
€186'L
9181'8
280¢'8

D\ _

|

CF,H

3d
"H NMR

ppm

— ©

10

SI-23



EEG 4493
9595611
csel8lL
900.°€Cl
1.08'v¢h
E€VE6 Vel
08¥0'scl
8¥19'9¢h
L60¢€°L2l
¥816'8¢L
Leey'ect
¢60.L'6¢h
cove’6el
608862}
8cle’6el
L¥86'6¢}
1509°L€l
162¢9°'LEL
Preo’Lel
62€6'€C)

!

~

CF,H

3d
13C NMR

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 S50 40 30 20 10

190

€656°0Lb-~__
9€9L°0LL-—"

CF,H

T
ppm

T
140

T
-120

3d
I9F NMR

T
-100

T
-80

T
-60

T
-40

T
-20

20

SI1-24



99199
S¥08'9

¥266'9
02S'L
€LeS’L
9EYe’L
L6¥S°L
819G°.L
Sv.G'L
o_‘.mwm.nV
6.19°L
62.8°L
v168°L
9€06°L
0lce’L
06¥6'L
1616,

.

o

3e
"H NMR

ppm

10

|

0000}

|

G9l6'¢

6206°¢

09007CHL
LLOL'GLL
99ze'8LlL
0060°ccl
61G1ccl
o9leeel
cL06'5¢C1
1500'9¢1
€901°921
60€6'9¢1
102521
¥.00'8¢1
6159'8¢l
€.10'6¢l
€9.L¥'LEL
L110°L€EL
¥590°¢el
820.7¢¢El
€L5Y' Vel

\

—~

1

T
3e
BC NMR

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

190

SI-25



£866'60 1" ~__
2€6L°60L-—

Cy
3e

19F NMR

T
ppm

T
140

\
-120

\
-100

\
-80

\
-60

\
-40

\
-20

=1

8666'9
2e8l’L
999€°L
Yy’ L
2899°L
7189°L
€V69°L
9669'L
1¥0L°L
ovelL L
LeLz
08v.L'L
vesL’L

§29L'L
268L°L
G.56°L
6€86°L
2666°L
2€eT8
¥8€C'8
9%92'8
2108
€62.'8
cL9.'8
€68/'8
906.'8

CF,H

3f
'TH NMR

ppm

10

[
960€" L
-

8Yl6'C
—9¥¥6°0
~\reeo’t
—G1860

0000°C

SI1-26



15%9CL1L
1608°GL1L
L16'8L1
§/61722l
868¢€'€Cl
6209'vCl
8vcovel
0/¥9'vCl
60¥8'9¢1
6¥96'9C1
8880°L¢l
8¢se /el
cLeelel
605€°.21
2698°Lcl
9620'8¢C1
€eyLecl
veyy'8cl
oLs9'6cl
90.2°0¢1
1€26°0¢€1
cLYSLEL

T

CF,H

3f
13C NMR

-

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

190

LLG8 L~
1299 LLL-—"

CF,H

3f
19F NMR

ppm

-140

-120

-100

-80

-60

-40

-20

20

SI1-27



0LEG°)L

22959
LG9
66€6'9
6,9¢°L
[o]3:1
L16€°L
966¢€°L
LOLY'L
ovev'L
2Sov'L
66.7°L
€061'L
PALS
2605°L
191G°2
102S°L
0cL9'L
evLLL
198L°L
996/°L
886.°L
£ves’ L

=\

Me Me

%0
39
"H NMR

ppm

SaAA

G2S6'S

—Jca0 3

0000" L
/0686'L
—8G86°)

P =626
F o 06T

10

65€lL"Lc—

€05} Ly —

v68L°ClLlL
18VE'SLL
G505°8L1
668611
8856611
8.€0°0¢h
ceeeoet
¥Sv9'0¢h
08.8'ccl
896.'v¢l
y188'vel
8€96'VCl
LA TR
L9le8eh
L9c6eecel
L9leeet
9.05°€€l
8817¢'8C |
81L/8'Lvl
L168°Lv1
0ve6' Lyl
Serlvsl
82¢9LvGL

IS 4

Me Me

G

39
3C NMR

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

190

SI-28



G260'601-~__
8788'80L-—"

Me Me

%0
39
9F NMR

T
ppm

\
-140

\
-120

\
-100

\
-80

T
-60

\
-40

\
-20

- o

20

€2¢98'€ —

9927’9~
16199~
1¥08' 9~
6256'9—=
61869
YoEY L~
Loy s

CF,H
3h
'H NMR

MeO

B

10

=

2016'C

— Lo e

SI1-29



066Y'95—

9L8'LLL
ZSLLvLL M
LW20'GLL—=
G69L'8LL —
009592}
1958'921

LeolLel
veve'Lel
LlegLel

S651'19L —

CF,H
3h
13C NMR

MeO

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 S50 40 30 20 10

190

182€°80)-~__

T
ppm

T
140

T
-120

€12L80L-—"

CF,H
3h
19 NMR

MeO

T
-100

T
-80

T
-60

T
-40

T
-20

20

SI-30



ey

01£9'9
96189
5902
98902
LovLL
S0LL'L—X
mva“
9558,
b8eL
LL0VL

06S1'L
€98Y°.L

CF,H

PhO

3i

'H NMR

ppm

F~

10

0000°V
—66EL'E
— /€860
11G6°1

—~2

\.}688l

028s°L L1

6SEL VL /
9688°LLL /
19.€811L
SL.L6LL %
8esevel
108¢€°L¢)
86SY°L2l W
88€G°L¢)
960.'8¢1
G800°6¢)
£€80€'621
9eoloel

Pr0€°951
IRTIN
60€L 65} W
996/°651

CF,H

PhO

3i
3¢ NMR

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

190

SI-31



1850°604-~__ B
1168'80L-—
I
o~
n
(6]
2
_ =
o Z
S 9
2
(@)
K
o

T
ppm

\
-140

\
-120

\
-100

\
-80

\
-60

\
-40

\
-20

- o

L00S'C—

€Ly 9—o
87099 —
2€6.°9—
1e8e’L

680€°L —
€66E'L—7
092¥'L

CF,H

MeS

3j

IH NMR

10

= 8€S1'e

SI1-32



€
F Q
o
3 F o
r o
e
165261 — _——_
=]
N
F 9
(3]
e
€EL00LL-~_
6€28'60L-—
r Q9
n
=]
(=)
r o
~
}
] o
(-]
r 9
o
o
F o
=]
o
YGOV L~ __ % =
€229 VLl ~ _
€611~ _ °
2588°SZL -
mwwm.mmrw
2970921 - o
€155°0E) — -3 r2
116808}
vISLLEL L
088} '2hl =
mtm.uiw I ~
90rZTrL
= 8
F -
(&)
. g
©
o Z
o
& 3=
3 '3
M -
o
<2
2]

ppm

-140

-120

-100

CF,H
MeS
3j
19F NMR
-20 -40 -60 -80
SI-33

20




£
o
o
I
-
0v9E' L — - — I =68
F LppeLe —
P 69867 —
= ™
- <
— 0
— ©
829Y'9— -4 P~
G1G99— -— 0000+
corgo— OB~ 2888 bbb~
mmww.m/ 4 F RN
I ) —cjee 6561811
eeey L= P EL68€ p298°5TL
v2es'L F o Nﬁ.mﬁw
E 9125521
s Nmﬁ.mﬁ\
£e8e'LEL —7
wo%eﬁ\
. 1G16'L€)
T 0641761
o re NNSS_W
o 801 ¥G1
=
X
(3] Z T
=
=}
o ~
[

ppm

20 10

30

60 50 40

70

100 90 80
SI-34

110

120

CF,H
170 160 150 140 130

3k
13C NMR

180

Bu
190




92000bL-~_

6€6L°60L-—

CF,H
3k
Pr NMR

Bu

ppm

-140

-120

-100

-80

-60

-40

-20

- o

20

8€¢G'9 —
S0LL9—
1/68°9—

8lv9'L
9899°L ~

8LeL L —7
ommE\

CF,H
3l
'THNMR

FsC

ppm

10

0000" L

8288’

86l

SI-35



92¢eg0L 1L
veLLell
€268°9L 1
9c0C8ll
veLgleh
geev'sch
160L°G¢l
[47r4%
¥608'GCl
1898'G¢h
§sL0'9¢1
960°9¢}
vLL1'92)
€leoeeh
988l°¢cel
90¢9¢el
8650°€el
v061°'€ch
c0Ly'LeL
169L°L€1
L£.0'8¢€1

SSNe=——r-o""

CF,H

FsC

3|
BCNMR

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

190

LEVY 2L~
oLz eL-—"

L¥20'€9-—

CF,H

3l

Pr NMR

FsC

T
ppm

T
-140

T
-120

T
-100

T
-80

T
-60

T
-40

T
-20

20

= 2606}

= 0000'¢

SI1-36



ppm

60 50 40 30 20 10

70

£
o
o
I
= -
— N
L
- <
e 1
- ©
19— S
£579°9— - H 0000k
0868'9— M P
-~
609y°L— - P =eEry Q0RO
F 0L6LHLE~Y
‘ L99E L LE~
F o 8v90°2Z}
: oL L2
[ £v2Z' 12}
: LLpL6ZL~3
. ¥829°ZEL ~_
Lesseel—7
892Z°€€ )
LOY6'9El
£196'9€
I Fe 8000°2€} u
L N
h
(&) ” %)
M -
5z -F
j=n)
@) -
o

100 90 80
SI-37

110

120

150 140 130

3m
13C NMR
170 160

o

Cl
180

190




6ELEOLL-~_
181LL°0LL-—"

CF,H

Cl

3m
Pr NMR

T
ppm

\
-140

\
-120

\
-100

\
-80

\
-60

\
-40

\
-20

- o

SSYY9—
16€9°9—
1028'9—
668€"L

pOLYL

9209°'L —~
oomﬁ\

CF,H

3n
"HNMR

Br

ppm

10

J
0000" L
-

clvy'e
—_sore

SI-38



LELOLLL~_
8CVe Vil ~_
LWL ~_

688¢'L¢l
wwwm.nw_‘%
[4:14x4%

8.¥9'82L —
Loleel—

ouovmﬁ\
Sow.mﬂ
650L°€EL

CF,H
3n
13C NMR

Br

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

190

ISPV L~
0L¥6°0bLL-—"

CF,H

Br

T
ppm

\
-140

\
-120

3n
19F NMR

\
-100

\
-80

T
-60

T
-40

\
-20

- o

SI-39



9259 —
SeLL9—
G868'9—

96v9°L
Wl9L—
SI8LL—7
9808°L

CF,H

ppm

\ H /

\ H oooo;z:.o:

\ w7k Eom.m:/

m m%mv:/
E ww;.q:V

- — F —86EL1 viv8bLL

- = F —ov89L 0S6v°9LL—7
o 8688°LL1

90e€°9Z}
m:v.@mrw
8L6Y'9Z)
. 0609°2EL
109z 81—
¥v95°8EL \
1598'8EL
[ o
e
s
° |
» Z -
=
O
z Fo

CF,H

3o
13C NMR

NC

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

190

SI1-40



1692°€LL-~_
6LL0€LL-—

CF,H

NC

3o
19 NMR

T
ppm

\
-140

\
-120

\
-100

L8071~
pLgyL—>
21srL

L98EY
86077\
9EEY Y —7
ﬁﬁ.v\

10259 —
1.0L9—
L¥68'9—

118G L~
0SL9L—"

1GE1°8~_
8z9L'8—"

CF,H

3p
'TH NMR

EtO,C

e vy

oveee

—rec e

€266 L

§2s6'L

—JcI0 b

AT

€206'L

—Lo b

SI-41



ceer vl —

110S'19—

mmoou_‘_\_\/
8081 w_‘_‘/
0LSE°LLL~

0959'5¢l
Nmmm.mw_\W
€918'6¢l

mmmouom_\/
eLeeel
mmmw.wm_\w
€868°¢el

€861'8€1 T
LE6Y'8€E1

606.'8€}

2026’99} —

<k

(N

CF,H

3p
3¢ NMR

EtO,C

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 S50 40 30 20 10

190

0622°Chb-~_
Ge80°TLL-—

T
ppm

CF,H

3p
19F NMR

EtO,C

T
-140

T
-120

T
-100

T
-80

T
-60

T
-40

T
-20

SI1-42



€8.69—
9. 9—
86¥6'9—

VOLL L~
Vvl L

Clee8~_
16¥€8—"

CF,H
3q
TH NMR

O,N

ppm

10

0000°V

Geve'l

62€6°L

v60L°0LL —
L00€°€LL —
906v' 9L —

8960421
£188°97L
€196°924 W
2o LeL
9v66'6EL
1862071 W
00901
Y28y 6L —

CF,H
3q
3¢ NMR

O,N

170

ppm

150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

160

180

190

SI1-43



OVL0ELL-~_
G6.8CLL-—

CF,H
3q
Pr NMR

O,N

T
ppm

\
-140

\
-120

\
-100

\
-80

\
-60

\
-40

\
-20

- o

06¥¥'9
2.€9'9
¥528'9
1510°L
2020°L
2€e0’L
S.¥0°L
§0S0°L
8€90°L
€€60°L
18111
€29¢°L
088€'L
LY.L

=\e=="

CF,H
OMe

3r
'TH NMR

ppm

10

=< £689'¢

0000" L

|

6658'C
€056°0

—20 Y

SI-44



92¢09'6G —

8669011
1922011
9958011
v8ESLLL
mqohw:/
90LL9LL
€€€L°9LL W.
266911
G9/8/LL
9296/
G.¥0'8LL
NoS.oQ\
19/5SEL—F
oKm.mQ\
£691°9€L

S0v6'6GL —

"

A

CF,H

OMe

3r
13C NMR

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

190

PLGL 0L~
855G 0LL-—

T
ppm

T
-140

CF,H
OMe
3r
19F NMR

T
-120

T
-100

T
-80

T
-60

T
-40

T
-20

20

SI-45



AR
68z —>
9esy'L

6.8y
E:W
Ssery

82&\

065259 ~_
€CLL9—
9668'9 —

68€G°2
mwoms/
6685 —\
syLLL—
voﬁx\

S/91'8—=
Em_.m\
66618

ppm

IO,

CF,H
3s
IH NMR
1 10

CO,Et

12

€60¥' vl —

oley' l9—

8L60°LLL
59T vLL
LLEV'LLL

oLLe'9zh /
8566'9C1
68.0°L21
9620'621 /

§slsl'e6clh
¥928'621

280662} \
6vT Lel
£888'1E}
9LzZgvel

8cesvel
99z1°gel

ppm

10

50 40 30 20

60

70

100 90 80
SI-46

110

120

CF,H
170 160 150 140 130

CO,Et
3s
3¢ NMR

180

190




0€CT LI~

T
ppm

€LTO'LLL-—

©/CF2H
CO,Et
3s

Pr NMR

\
-140

\
-120

\
-100

\
-80

\
-60

\
-40

\
-20

- o

20

98€0'9
62.€°9

G959
_‘omm@%

Z6v8'9
62589 N

91189-F
61169
12869
79002

CF,H

3t
"H NMR

ppm

10

— et

TN
0000°V

— 91560
—9r88’L

SI1-47



G/12°101
wmww.mo_‘/
§2ze's0l
¥566°G01
965€'80} —_
0619 LI~
6€LL VI ——
§6C6°LIL —

6€81°0¢k
omnw.ow_‘N
[4Z2 4%

09vL'8zL—7
65vh'8Z)

L5v.'8¢1

9/61'8v1
09.9'6v1
¥r0L'671 W
mwmn.mv_‘

CF,H

3t

3¢ NMR

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 S50 40 30 20 10

190

2020804 ~__
€ve8 L0L-—

T
ppm

T
140

T
-120

CF,H

3t
I9F NMR

T
-100

T
-80

T
-60

T
-40

T
-20

20

SI1-48



GeGET—

CF,H

Me

3u
IH NMR

ppm

10

—8¢g6'¢

0000°V
—L12le

— 12860

\9896'0

9,098 —

SLLVLLL
689511
G6LLLLL
1¥82°G2L
£288'GZ1
0286'G2L
1660°921
0£89°0€}
G80.°0EL
60€L°0EL

1251°LEL 7
20.0°ZE)
ySrEZEL
1029°Z€L
0v0e'9EL
G29g'9EL
0€Zr'9EL

—~\yp ===

CF,H

Me

3u
3¢ NMR

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

190

SI1-49



180T°€LL-~__
veLoeLl-—"

CF,H

Me

3u
19 NMR

T
ppm

\
-140

\
-120

\
-100

\
-80

\
-60

\
-40

\
-20

- o

99€2°9
68169
SOEM

S265'L
mm_ﬁ/
6169 L~\

oL L—F
61EL°L
S0S.°L
60LL°L

CF,H

CN
3v
'H NMR

ppm

11 10

12

[ NS
0000°L
-

—€€96°0
9656'C

SI-50



wom;or
m:&.o:
N:Z: W
Z08L0LL
9zLETLL—
SZ6Y'SLL—r
866851
L1SY°9TL
owmm.wmrv
1219'9Z1
z98eLEL ——
sieeel—"_
ssLgoel—7
0928'9€}
zsel el

CF,H

CN

3v
3¢ NMR

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

190

656L°2LL-~__
210024 -—"

CF,H

CN

3v
19 NMR

T
ppm

T
-140

T
-120

T
-100

T
-80

T
-60

T
-40

T
-20

20

SI-51



96659
€/81°9
16.6'9
€cLe’sL
Svee' L
V.€€°L
205€e’L
oLey'L

62ev’L
6vviL
6089°L
080L°L
6.S.°L
198L°L
[441%]
8LL1'8

NN

CF,H

3w
'H NMR

ppm

10

€lel'60l
9LVT LI
0SLyvilL
1€8S°LL1L
£€99¥°021
£625°0C1
€€0.°¢€2l
6cee9Cl

@
0
©
N
N~
N
&

SN

v6€€°L21
98ly'L2l
986v°L21
8196°C¢El
8.5¢°eel
0655°€El
90€L’0v
91850V

Nt R M A A A

CF,H

3w
3¢ NMR

ppm

180 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

190

SI-52



__-110.3425
T--110.5394

OO

3w
Pr NMR

T T
20 0 -20 -40 -60 -80 -100 -120 -140

SI-53



